



Franklin County Municipal Court Custom End Tab File Folders & Labels

Date: 6/19/20

State Contract Pricing-#800809

CRIMINAL/TRAFFIC DIVISION:

Note new color for #2 Yellow same color as Jeter 7378

Model Number	Description	Qty	Price Per	Amount
J10307-02-FPL	A. Folders must be white stock tinted powder blu Label will have six (6) numeric color coding Positions, and "20" year band colored to match t **Bar code on each label required. Start number 180000 End number 194749		.50 each	\$ 7,375.00
	Delivery Date: By August 31, 2020			
	Item base construction: 1162-00			
J10307-02-FPL	B. Folders must be white stock tinted powder blue. 70,000 .50 each \$35,000.00 Label will have six (6) numeric color-coding positions and "21" year band colored to match the number one. **Bar code on each label required Start number 100000 End number 169999			
	By March 1, 2021 Qu	antity: 25,000 antity: 30,000 antity: 15,000	Sequence: T	raffic 100000-124999 raffic 125000-154999 raffic 155000-169999
	Item base construction: 2 ty 1 \$.30/each 1108-01 = \$.10 ea. 2 ty 2 \$.20/each \$.50/each \$.50/each			
J10307-04-FPL	C. Folders must be white stock tinted light gray. Label will have five (5) numeric color-coding post and "21" year band colored to match the number **Bar code on each label required. Start number 00001 End number 20000.	20,000 itions one.	.50 each	\$10,000.00
		antity – 10,000 antity – 10,000	Sequence: 0 Sequence: 1	
	Item base construction: 2 ty 1 \$.30/each 1108-01 = \$.10 ea. 2 ty 2 \$.20/each \$.50/each \$.50/each			





Franklin County Municipal Court Custom End Tab File Folders & Labels Date: 6/19/20

State Contract Pricing-#800809

J10307-02

D. Folders must be white stock tinted green.

4,000 .50 each \$2,000.00

Label will have five (5) numeric color-coding positions and "21" year band colored to match the number one. .

** Barcode added to each label required.

Start number 70001 End number 74000

Delivery Date: By December 1, 2020

Item base construction:

1162-00

Qty 1 \$.30/each

1108-01 = \$.10 ea.

\$.20/each Qty 2

\$.50/each

JT1106M-06B13P1T-GL E. Folders must be white stock tinted orange.

2,000 .39 each \$780.00

Label will have five (5) numeric color-coding positions and "21" year band colored to match the number one. **Bar code on each label required. Add fastener pos 3

Start number 50001 End number 52000

Delivery Date: By December 1, 2020

Item base construction:

1102-00

Qty 1

1108-01 = \$.10 ea.

\$.19/each Qty 2

\$.20/each \$.39/each

ABELS:

Model Number	Description	Qty	Price Per	Amount
1287-21	TAB MATCH YR 2021 500/RL	10 Boxes	\$6.33	\$ 63.30
1100-08	Red Vinyl Outquides	300 each	\$1.88	\$564.00

Delivery Date: By August 31, 2020

All Criminal/Traffic Labels & Outguides

Total for Criminal/Traffic Division: \$55.782.30





Franklin County Municipal Court Custom End Tab File Folders & Labels

Date: 6/19/20

State Contract Pricing-#800809

CIVIL DIVISION:

Note: No color change for number 2

FOLDERS:

Model Number	Description	(Qty	Price Per	Amount
J10519-00-FPGL	F. Folders must be manila. Labels Five (5) numeric color-coding posi "20" year band colored to match the zero. **Barcode added and include Start number 45001 End number 51000	itions and ne number	000	.39 each	\$2,340.00
	Delivery Dates: By August 31,	2020			
	Item base construction: 1102-00 Qty 1 1108-01= \$.10 ea. Qty 2	\$.19/each <u>\$.20/each</u> \$.39/each			
J10307-02	G. Folders must be white stock tin Label will have five (5) numeric co positions and "20" year band color the number zero. Barcode added a Start number 60751 End number 61500	lor coding red to match	750	.50 each	\$ 375.00
	Delivery Date: By August 31,	2020			
	Item base construction: 1162-00 Qty 1 1108-01 = \$.10 ea Qty 2	\$.30/each \$.20/each \$.50/each			
J10519-00-FPGL	H. Folders must be manila. Label will have five (5) numeric co positions and "21" year band color the number one. **Barcode adde Start number 00001 End number 45000	red to match	45,000 d	.39 each	\$17,5500.00
	Delivery Dates: By December 1 By March 1, 20 By June 1, 202	21 QL	uantity -15,000 uantity -15,000 uantity -15,000		Sequence: 00001-15000 Sequence: 15001-30000 Sequence: 30001-45000
	Item base construction: 1102-00 Qty 1 1108-01 = \$.10 ea. Qty 2	\$.19/each <u>\$.20/each</u> \$.39/each			

J10307-02

I. Folders must be white stock tinted green.
Label will have five (5) numeric color coding
positions and "21" year band colored to match
the number one. Barcode added and included
Start number 60001

Start number 60001 End number 61500

Delivery Date: By December 1, 2020

Item base construction:

1162-00 Qty 1 \$.30/each 1108-01 = \$.10 ea. Qty 2 \$.20/each \$.50/each

LABELS & OUTGUIDES:

LABLES & OU	I GOIDEG.			
1287-20	TAB MATCH YR 2020 500/RL	10	\$6.33	\$ 63.33
1287-21	TAB MATCH YR 2021 500/RL	10	\$6.33	\$ 63.33
1307-50-I	TAB MATCH ALPHA I 500/ROLL	15	\$7.63	\$114.45
1307-50-F	TAB MATCH ALPHA F 500/ROLL	40	\$7.63	\$305.20
1307-50-G	TAB MATCH ALPHA G 500/ROLL	40	\$7.63	\$305.20
9531	Solid color RED labels 500/RL	15	\$7.04	\$105.60
1100-08	15 pt. Vinyl, Red Outguide, center tab, letter size	300	\$1.88	\$564.00

\$1,521.05

.50 each

\$ 750.00

Delivery Date: By August 31, 2020 All Civil Labels & Outguides

1,500

Total for Civil Court Division: \$22,536.05

Summary of Quote Cost:

Criminal/Traffic Division: \$55,782.30 Civil Division: \$22,536.05

Total Municipal Court Clerk Cost: \$78,318.35